1037-A/B Cylinder

Page 150



1037-A/B Air Cylinder

Ref. Part Description
No. Number
1 [0435-A Cylinder Lid (SAE)
2 10928-A Diaphragm
3 | 1046-A Piston Pushrod (8 1/2” Long)
4 |5245-A Spring
5245-B Spring for Model 03001A9
5 ]1010-A Cylinder Boot
6 |5448-A Housing (6 1/2” Long)
7 0982-B Extension Rod (6 1/2” Long)
8 [0982-A Extension Rod (2 3/16” Long)
9 |5134-A M14-1.5 Pushrod Nut
10 |[0438-A Clamp
11 |[0331-A M10-1.5 x 45mm Clamp Bolt
12 [5202-A M10-1.5 Clamp Bolt Nut
13 |1015-A Boot Clamp
14 (41755 M10-1.5 Nylock Nut
15 |[0572-A M-10 x 1.5 Cylinder Stud

NOTE: 1037-A Cylinder uses the 0982-A (2 3/16”) Extension Rod.
1037-B Cylinder uses the 0982-B (6 1/2”) Extension Rod.

1037-C Cylinder uses Spring 5245-B and 0982-A (2 3/16” ) Extension Rod

Page 151



